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M - R RERHE 12 1,804 1,992 2 4
M B A A #E = 13 — — 28,573 28,421
& N A 14 23,681 22,213 - -
HEZH EEBES 15 4,836 4,538 - —

%EIE B EH#ER 16 1,948 2,465 - —
BHEE 17 2,091 803 - —
HEMIERBEE 18 36 43 - —
IRBEELE 34,396 32,054 28,575 28,425
FE 19 164 188 - —
J& AR BB Fk 1B 21 20 - —
JiE U BR TR N T8 H 20 649 722 7 7
JiE U % B = = 1,709 1,682
RITEB TR 7,243 7,191 4 4
REBEEHRE 8,077 8,121 1,720 1,693
RITE XK 21 1,258 2,269 = —
BB K ERE A 22 642 571 159 152
18 109 99 — —
REBEEHAE 2,009 2,939 159 152
REBEEFE 6,068 5,182 1,561 1,541
EEREBERARBAS 40,464 37,236 30,136 29,966
RITREMER 21 11,079 10,376 - —
iR & Fi I8 23 151 111 — —
ERBEBELEE 11,230 10,487 — —
DE R R ES 209 219 = =
EEFE 29,025 26,530 30,136 29,966
EFAEBERE:
& & 24 2,254 2,254 2,254 2,254
&% 1% 25 26,771 24276 27,882 27,712
Ny SRR 29,025 26,530 30,136 29,966
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